Pre-Calculus

Assignment

Find the inverse of each function.

1) g(x)=—2+§x

3) f(x)=—1+(x+ 1)3

5) o) = Vx+3-2

7 f)=-x
9) f(n)=3—n3
M)Mﬂ=§

13) f(x)=-7x-4
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mfw=%

4) f(x)=x+1

6) g(x)=x+4

-1

8) 1) =—=

10) glx) =

EEES

_2x—10

12) glx)

-12-8n

14) f(n) =

ID: 1



15) hlx) -2

= | w

4x - 12

17) f(x) =

19) g(x) _ 20 ; 4x

W |

M)fbo=§n—

23) f(x)=V-x+2

25) h(x)=x"-3

27) h(x) = -x -1

16) glx)=Vx -1

18) f(x)=2-2x"

—-x+3
20) f(x)= :
3
22) h(x)=x_2 -2
8
24) g(x)=——x+§

26) f(x)=Vx+1

28) f(x) —x3 +2



5x+3

29) flx) = 5

-2

35) g(x)=x‘_‘3

37) g(n) =-4 - gn

39) g(x) = *

-x-1

41) gx)=x-2-2

30) gln) =5+ §n

32) gl) = ——

34) gln) = ~(n+3)°

36) glx)=(x-2)°-2

38) f(x)= S
-x-3
-x+1
40) h(x) = ;

42) f(n)=2n+5



43) gln) =

n+1

45) f(x)=Vx

47) f(x)=9x+4

49) f(x)=3+2x

51) hn) =

-n+3

1
- +3
x-1

53) glx)

55) gln)=2n-2

44) g(x)=-2- %x

-1

46) f(x) =

x+1

4&4@1H3

50) A(x)=3+(x+2)°

52) glx)

54) f(x) _2

= | =

56) f(x)=‘\/5x+1



57) f(x)=—% 2 58) f(x)=~N—x-2
59 x)=x°
)f() 60) f(x)=16+3x
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Find the inverse of each function.

2 3x
1) g(x)=—2+§x 2) f(x)=?
g (w) = Jx+3 )=
3) flx)=-1+(x+1) 4)f(x)=\3/;+1
S =xr1-1 7= (e-1)
5) o) = Vx+3-2 6) g(x) = x+4
g (x)=(x+2)-3 g (¥)=x-4
5
"S- 9 /)=—-1
) == T
) = —— 42
x+1
9) f(n)=3-n’ 10) g0 =% 41
f_l(n) = ‘\/3 -n+3 *
g (x) = xé_l 1
1) h(x) == 12) glx) = 2210
X 9
h—l(x)=i g_l( ) - 10;9)(
13) f(x)=-7x-4 14) 1) = —123— 8n
» 1 4
f (X)=—;x—; f_l(n)= 312



w)Mﬁ=-§-z
X
ey 3
! (X)_ x+2
17) f(x)=4x—12
5
Ly 124 5x
£7(x) = .,

23) f(x)=V-x+2

f_l(x) )

25) h(x)=x"-3

h_l(x) = ’\/3 x+3

27) h(x) = -x -1

h_l(x) - —(x + 1)3

16) g(x)= 5x—l

g () =(x

+ 1)5

18) f(x)=2-2x"

f%ﬂ=s:ﬁi%

20) f(x) = :

f_l(x) =-2x+3

2

-x+3

f 1(x)=x3—1

28) f(x)=- +2
ey 3
S = 2



_ 5 x+3
29) f(x) = 5
f_l(x)=2x5—3
31) flx) = i2+3
gy 4
ST =5 w2
3) =22
X
Sy 2
S (x)_x+2
4
35) g(x)=x_3
g =2 43
X
37) g(n)=—4——n

36) glx)=(x-2)°-2




43) gln) = 2,
n+1
-1 2
= -1
& (n) n+2

49) f(x)=3+2x
) = X3
=

4

-n+3

+2

51) hln) =




58) f(x) = V-x-2

f_l(x) =2-x
60) f(x) _ 16 + 3x
4
-




